DTyet: MNMeparory no npegmeTy

tymanoBa AHxena A6ucanoBHa, 2015/2016 y4e6HbIN roa, AHINUNCKUN A3bIK

o - o . YcnesaemocTb Coeaui | % 2/06 . 88,_;
nace s yraromt o™ | Xop | va | Heya ;” OCB |34 | H3 ?:’;HKM Gann  |ycnes. |, " | ()
1-a yetBeptb | 10 3 2 5 |0 0|0 0 [0 |0 3,8 100,0 |50,0 |60,8
2-a yetBepTb | 10 3 4 3 |0 0 (0 0 [0 |O 4,0 100,0 | 70,0 |66,4
(2&3manoaa1) 3-a yetBeptsb | 10 2 5 3 |0 0 (0 0 |0 (0O 3.9 100,0 | 70,0 |62,8l
4-1 yeTBepTb | 10 1 5 4 |0 0 (0 0 |0 |0 3.7 100,0 | 60,0 | 56,4t
loa 10 3 4 3 |0 0|0 0 [0 |O 4,0 100,0 | 70,0 |66,4l
1-a yeTBepThb | 14 5 4 5 |0 0|0 0 (0 |0 4,0 100,0 | 64,29 | 66,8
2-5 yeTBepTh | 14 8 5 1 0 0 |0 0 |0 (0 4.5 100,0 | 92,86 (82,5
?&;Manosa) 3-n vyerBepTb | 14 10 |3 1 |0 010 0 |0 |O 4,64 100,0 92,86 | 87,7
4-a yeTBepTb | 14 8 4 2 |0 0|0 0 [0 |O 4,43 100,0 [85,71 (80,5
loa 14 2 4 1 10 0|0 0 [0 |O 4,57 100,0 | 92,86 | 85,1
1-7 yeTBepThb | 13 3 4 6 |0 0|0 0 |0 |O 3,77 100,0 |53,85 | 59,3
2-5 yeTBepTb | 14 3 6 5 |0 0 |0 0 |0 |0 3,86 100,0 | 64,29 | 61,7
(Blismanoaa) 3-a yetBepTs | 14 3 7 4 10 0|0 0 [0 |O 3,93 100,0 | 71,43 | 63,7
4-9 yeTBepTh | 14 3 6 4 |0 0 1|0 0 [0 |1 3,82 92,86 | 64,29 | 59,1
loa 14 3 7 3 |0 0|0 0 (0 |1 4,0 92,86 | 71,43 61,1
1-5 yeTBepThL | 26 8 7 9 |0 0|0 0 [0 |2 3,96 92,31 | 57,69 | 60,4
2-a yeTeepTb | 12 4 3 5 10 0|0 0 |0 |0 3,92 100,0 | 58,33 | 64,3
?Iz;maﬂoaa) 3-1 yeTBEPTL | 12 5 4 310 0|0 0 (0 |O 4,17 100,0 [ 75,0 |72,0
4-9 yeTBEPTL | 12 3 6 3 10 0|0 0 |0 |0 4.0 100,0 | 75,0 | 66,01
log 12 5 4 3]0 010 0 [0 |O 417 100,0 | 75,0 | 72,01
1-a yeTBepTh | 14 3 2 8 |0 0|0 0 (0 1 3,62 92,86 | 3571|511
2-51 yetBepTh | 14 3 5 6 |0 0|0 0 |0 |0 3,79 100,0 | 57,14 | 59,7
Comanosa) | 37 eraepTs | 14 3 (4 [7 {0 oo Jo o |o 371 |100,0 |500 |57.7
4-51 veTBepTh | 14 3 3 8 |0 010 0 |0 |0 3,64 100,0 [42,86 |55,7
lon, 14 3 3 8 |0 0|0 0O (0 |O 3,64 100,0 [42,86 | 55,7
1-a yeTBepTb | 13 2 4 7 |0 0|0 0 (0 |0 3,62 100,0 | 46,15 | 54,4
2-a yeTBepTb | 13 3 2 8 |0 0|0 0 |0 |0 3,62 100,0 | 38,46 | 55,0i
Comanosa) |37 versepTs | 13 3 (4 [6]o Jofo [o]o |o 377 1000 53,85 | 59,3
4-7 yetBepTb | 13 2 2 9 10 0 |0 0 |0 (O 3,46 100,0 |30,77 | 50,1!
lon 13 3 3 7 |0 0|0 0 |0 |0 3,69 100,0 [46,15 57,2
1-a veTBepTh | 13 2 4 7 10 0 |0 0 |0 (O 3,62 100,0 | 46,15 [ 54,4
2-51 yeTBepThL | 13 3 ] 5 10 0 |0 0O |0 |0 3,85 100,0 | 61,54 | 61,5:
az;manosa) 3-a vyetBepTh | 13 3 3 7 10 010 0 [0 |O 3,69 100.0 |46,15|57,2
4-51 yeTBEpTL | 14 3 3 8 |0 0|0 0 [0 |O 3,64 100,0 | 42,86 |55,7
Mo 14 3 4 7 |0 0|0 0 |0 (O 3,71 100,0 | 50,0 |57,7
9-8 1-9 quBepTL 13 0 4 9 |0 0|0 0 |0 (O 3,31 100,0 | 30,77 | 44,6
(Kymanosok) 2-a yeTBepTk | 13 0 5 8 |0 0 |0 0 |0 |0 3,38 100,0 | 38,46 | 46,7




4-9 yeTBepTb | 13 0 4 9 |0 010 0 |0 (O 3.31 100,0 | 30,77 | 44,6
lon 13 0 4 9 |0 0|0 0 (0 |0 3,31 100,0 | 30,77 | 44,6
1-a yetBepThb | 20 4 6 1010 0 (0 0 |0 |O 3.7 100,0 | 50,0 |57.2
2-a yeTeepTsb | 20 5 ¥ 8 |0 010 0 |0 [O 3,85 100,0 | 60,0 |61,8
-r 3-a yerBepThb | 21 5 7 7 |0 0|0 0 |0 |2 3,89 90,48 |57,14 | 57,1
4-5 yeTBeEpPTH | 21 6 6 9 |0 010 0 |0 |0 3,86 100,0 | 57,14 | 62,2
log 21 5 7 9 |0 0|0 0 |0 |0 3,81 100,0 | 57,14 | 60,5
*#i LLikonbHbIi nopran
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